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The exam is worth a total of 128 points, composed of three types of questions. 
 
MC5: multiple-choice-five-answer questions, each worth 6 points.  
Partial credit will be granted as follows. 
 
(a) If you mark only one answer and it is the correct answer,  
you earn 6 points.  
(b) If you mark two answers, one of which is the correct answer,  
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(c) If you mark three answers, one of which is the correct answer,  
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(d) If you mark no answers, or more than three, you earn 0 points. 
 
 
MC3: multiple-choice-three-answer questions, each worth 3 points.  
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(b) If you mark a wrong answer or no answers, you earn 0 points. 
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m (milli) = 10-3; k (kilo) = 10+3; M or Meg (mega) = 10+6; G or Gig (giga) = 10+9.    
 

 
 

 



PHYS 102 Exams

1)

2)

3)

SP2015 Exam 3 (A)

A concave mirror has a radius of
curvature with absolute value

|R| = 24 cm. If you put an object at a
distance of s = 29 cm away from the
mirror, what is the image distance s′?

a.  s′ = 8.5 cm
b.  s′ = 20 cm
c.  s′ = 140 cm

Select the incorrect statement.

a.  When light passes from vacuum into glass, its frequency stays the same.
b.  The vectors that represent the electric and magnetic fields of an electromagnetic wave in a vacuum

are perpendicular to one another and to the direction in which the wave is propagating.
c.  Light, radio waves, and X­rays are all electromagnetic waves.
d.  When electromagnetic waves are absorbed by a large object, energy is transferred to the object.
e.  Light has a greater speed in matter than in a vacuum.

Which of the following rays for light from an object onto a converging lens is drawn incorrectly?

a.  none of the others
b.  ray 2
c.  ray 4
d.  ray 3
e.  ray 1
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4)

5)

A beam consisting of red and blue light is incident from air onto a flat
rectangular slab of glass, for which the index of refraction n depends

on frequency in the usual way (n is smaller for larger wavelengths).
When the light emerges at the bottom of the slab, we can say that...

a.  the blue light emerges at a larger value of x along the x­axis than does the red.
b.  the red and the blue light emerge at the same point.
c.  the red light will not emerge because of total internal reflection.
d.  the blue light will not emerge because of total internal reflection.
e.  the red light emerges at a larger value of x along the x­axis than does the blue.

A candle is placed at a distance do = 7 cm in front of a certain lens (marked by the textured rectangle
in the figure) with focal length f. It is unknown whether the lens is converging or diverging. An

experiment shows that the lens produces a well­focused image of the flame on a screen a distance di = 3
cm away.

What is the focal length of the lens?

a.  f = ­5.2 cm
b.  f = ­2.1 cm
c.  f = 5.2 cm
d.  f = 2.1 cm
e.  f = 10 cm
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6)

7)

8)

The next three questions pertain to the situation described below.

A candle of height ho = 3 cm is placed a distance do = 6 cm in front of a diverging lens, creating a
virtual image 1 cm away from the lens.

What is the absolute value of the height hi of the image?

a.  |hi| = 0.056 cm
b.  |hi| = 0.5 cm
c.  |hi| = 18 cm

Is the image upright or inverted?

a.  inverted
b.  upright

What is the focal length of the lens f?

a.  f = 7 cm
b.  f = 0.86 cm
c.  f = ­1.2 cm
d.  f = ­0.86 cm
e.  f = 1.2 cm
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9)

10)

The next two questions pertain to the situation described below.

A resistor R = 3.9 Ω is attached to a frictionless conducting track. The right end of the track is inside a
uniform magnetic field Bext = 0.3 T that points out of the page; the field is zero everywhere else. A
sliding metal bar of length L = 5.5 cm moves to the right along the track at a speed v = 0.4 m/s. The bar
initially starts outside the B field.

Which diagram below best represents the current I through the resistor R vs. time? Use the sign
convention that I > 0 when flowing up through R, I < 0 down through R.

a.  4
b.  2
c.  1
d.  3
e.  5

What is the magnitude of the current |I| at its highest value?

a.  |I| = 0.85 mA
b.  |I| = 0.056 mA
c.  |I| = 11 mA
d.  |I| = 5.3 mA
e.  |I| = 1.7 mA
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11)

12)

The next two questions pertain to the situation described below.

A generator is made from a loop of N = 20 turns of wire wound into
a rectangle of sides w = 2.2 cm and L = 4 cm. The loop rotates inside
a uniform magnetic field B = 0.4 T pointing up and completes each
full rotation cycle in T = 2 s.

What is the maximum emf εmax generated in the loop?

a.  εmax = 22 mV
b.  εmax = 14 mV
c.  εmax = 3.5 mV
d.  εmax = 0.091 mV
e.  εmax = 140 mV

The diagrams below show the loop at different time points. For which of the following diagrams is
the magnitude of the current in the loop maximum?

a.  1
b.  3
c.  2
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13)

14)

15)

A gasoline­powered AC generator produces
a maximum power of P = 5 kW. The peak

voltage of its output is V = 120 V. You need to
use this generator to drive a power tool that
cannot take current larger than Imax = 6 A, so
you build a transformer with Np = 300 and Ns
turns for the primary and secondary coils,
respectively. What must be the minimum number
of turns in the secondary coil Ns such that the
maximum current Imax is not exceeded?

a.  Ns = 2100
b.  Ns = 3400
c.  Ns = 2900
d.  Ns = 4800
e.  Ns = 1600

The next two questions pertain to the situation described below.

A rectangular loop is placed next to a long straight wire as shown. The loop and wire lie in the same
plane. A current is flowing through the wire to the right and increasing.

In which direction does the induced current through the loop flow?

a.  no current flows
b.  clockwise
c.  counterclockwise

If the loop is now allowed to move in the plane, in which direction does it go?

a.  The loop moves toward the wire.
b.  The loop moves parallel to the wire.
c.  The loop moves away from the wire.

Page 6 of 10

yoshioono
Text Box
V/N = constant
P = VI = constant
IN = constant

yoshioono
Typewritten Text

yoshioono
Typewritten Text

yoshioono
Typewritten Text
Since IN is constant, to make I smaller, we must make N
larger.  An upper bound of I implies a lower bound of N.
 From P Ip = 5000/120 = 41.667 (max primary current).
41.67x300 = 6xNs -> Ns = 12500/6 = 2083.

yoshioono
Pencil

yoshioono
Pencil

yoshioono
Callout
increasing

yoshioono
Pencil

yoshioono
Pencil

yoshioono
Pencil

yoshioono
Text Box
Lenz tells us that the loop current wishes to reduce the change of the B-flux through the loop.

yoshioono
Text Box
Lenz, again.  To reduce the flux through the loop, it wishes to run away from the wire.

yoshioono
Pencil

yoshioono
Pencil



16)

17)

18)

The next two questions pertain to the situation described below.

A square loop of side L = 6.9 cm is placed around a long
solenoid of radius r = 1.3 cm that generates a magnetic
field B = 1.5 mT pointing to the left.

What is the magnetic flux Φloop through the loop?

a.  Φloop = 1.2 × 10­4 T∙m2

b.  Φloop = 2.5 × 10­7 T∙m2

c.  Φloop = 2.2 × 10­5 T∙m2

d.  Φloop = 8 × 10­7 T∙m2

e.  Φloop = 6.1 × 10­5 T∙m2

At the instant shown, you find that an induced current is flowing around the square loop in the
counterclockwise direction. Which of the following statements must be true?

a.  The current in the solenoid is decreasing.
b.  The flux through the loop is constant.
c.  The magnitude of the magnetic field from the solenoid is increasing.

A person is standing a distance D = 5.8 m in
front of a flat, vertical mirror. The distance from

the ground to his eyes is H = 1.6 m. An object is
placed on the ground a distance d = D/2 = 2.9 m in
front of the mirror. At what height h should the
bottom of the mirror be so that the person can see
the bottom of the object?

a.  h = 3.62 m
b.  h = 0.533 m
c.  h = 0.267 m
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19)

20)

21)

The next five questions pertain to the situation described below.

A plane electromagnetic wave is propagating in the +x direction in vacuum, whose electric field E is
parallel to the y­axis. The sine wave in the following figure describes the electric field along the x­axis at
a certain instant.

At point P at this instant the electric field is in the positive y direction. What is the direction of the
magnetic field vector at the same point and time? Pay due attention to the positive z direction in the

figure.

a.  ­y direction
b.  ­z direction
c.  +z direction
d.  +x direction
e.  ­x direction

What is the frequency of this electromagnetic wave?

a.  8.33 MHz
b.  4.17 MHz
c.  4.17 GHz
d.  6.42 MHz
e.  8.33 GHz

What is the polarization of this electromagnetic wave?

a.  unpolarized
b.  linearly polarized in the y­direction
c.  linearly polarized in the z­direction
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22)

23)

24)

This question and the next one follow from the previous set.

This wave goes through a thick slab of a material with index of refraction n = 1.7. What is the distance
between the adjacent nodes (where the electric field vanishes, corresponding to the distance between Q
and R in the figure)?

a.  d = 1.06 cm
b.  d = 1.8 cm
c.  d = 2.12 cm
d.  d = 3.06 cm
e.  d = 1.53 cm

A perfect absorber of the electromagnetic wave of area A = 15 m2 is placed parallel to the yz­plane.
What is the energy this absorber receives from the source of the electromagnetic wave in 1 minute?

The peak value of the electric field is E = 1.2 V/m.

a.  Energy = 0.00764 J
b.  Energy = 3.44 J
c.  Energy = 1.72 J
d.  Energy = 0.0287 J
e.  Energy = 0.115 J

A 100 W light bulb emits a total of 100 W of electromagnetic waves of various frequencies
isotropically (i.e., evenly in all directions in space). What is the total average magnetic energy

density uB at a point d = 14 m away from the bulb?

a.  uB = 1.9 × 10­9 J/m3

b.  uB = 1.5 × 10­11 J/m3

c.  uB = 6.8 × 10­11 J/m3

d.  uB = 1.4 × 10­10 J/m3

e.  uB = 9.5 × 10­10 J/m3
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25)

26)

The next two questions pertain to the situation described below.

Initially, there are two polarizers as exhibited in the following figure. Unpolarized light of intensity I0 is
incident from left. The transmission axis of the second polarizer makes an angle of 30° with the first
transmission axis, as shown in the figure.

What is the intensity IP of the light at P?

a.  IP = I0
b.  None of the other solutions.
c.  IP = I0 / 2
d.  IP = 3 I0 / 4
e.  IP = 3 I0 / 8

Now, a third polarizer is placed between the two existing polarizers so that its transmission axis
makes an angle of 15° with that of the first polarizer as illustrated below.

What is the intensity IP of the light at P now?

a.  IP = 0.351 I0
b.  IP = 0.435 I0
c.  IP = 0.282 I0
d.  IP = 0.725 I0
e.  IP = 0.871 I0
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Physic 102 formula sheet (SP2015)

Kinematics and mechanics

x = x0 + v0t +
1
2
at2 v = v0 + at v2 = v2

0 + 2a∆x

F = ma ac =
v2

r

Etot = K + U K =
1
2
mv2 =

p2

2m
p = mv WF = Fd cos θ

Electrostatics

F12 = k
q1q2

r2
E =

F

q0
U12 = k

q1q2

r
V ≡ U

q0
WE = −∆U = −Wyou

Point charge E = k
q

r2
V = k

q

r
Electric dipole p = qd τdip = pE sin θ Udip = −pE cos θ

Resistance

R =
V

I
I =

∆q

∆t
Physical resistance: R = ρ

L

A

P = IV = I2R =
V 2

R
RS = R1 + R2 + · · · 1

RP
=

1
R1

+
1

R2
+ · · ·

Capacitance

C =
Q

V
Parallel plate capacitor: C =

κε0A

d
E =

Q

ε0A
V = Ed

UC =
1
2
QV =

1
2
CV 2 =

1
2

Q2

C
CP = C1 + C2 + · · · 1

CS
=

1
C1

+
1
C2

+ · · ·

Circuits∑
∆V = 0

∑
Iin =

∑
Iout

q(t) = q∞(1− e−t/τ ) q(t) = q0e
−t/τ I(t) = I0e

−t/τ τ = RC

Magnetism

F = qvB sin θ r =
mv

qB
Fwire = ILB sin θ τloop = NIAB sinϕ

Magentic dipole: µ = NIA τdip = µB sinϕ Udip = −µB cos ϕ

Bwire =
µ0I

2πr
Bsol = µ0nI

Electromagnetic induction

E = −N
∆Φ
∆t

Φ = BA cos ϕ

|Ebar| = BLv Egen = Emax sinωt = ωNAB sinωt ω = 2πf

Vrms =
Vmax√

2
Irms =

Imax√
2

Vp

Vs
=

Is

Ip
=

Np

Ns

Electromagnetic waves

λ =
c

f
E = cB

uE =
1
2
ε0E

2 uB =
1

2µ0
B2 u =

1
2
ε0E

2
rms +

1
2µ0

B2
rms = ε0E

2
rms =

B2
rms

µ0
S = I = uc =

P

A

f0 = fe

√
1 + vrel/c

1− vrel/c
≈ fe

(
1 +

vrel

c

)
I = I0 cos2 θ

1



Reflection and refraction

θr = θi
1
do

+
1
d1

=
1
f

f = ±R

2
m =

hi

ho
= − di

do

n1 sin θ1 = n2 sin θ2 v =
c

n
sin θc =

n2

n1
M =

θ′

θ
≈ dnear

f

Compound microscope: mobj =
Ltube

fobj
Meye =

dnear

feye
Mtot = Meyemobj

Interference and diffraction

Double-slit interference: d sin θ = mλ d sin θ =
(

m +
1
2

)
λ m = 0,±1,±2, · · ·

Single-slit diffraction: a sin θ = mλ m = 0,±1,±2, · · ·
Circular aperture: a sin θ ≈ 1.22λ

Quantum mechanics

E = hf =
hc

λ
λ =

h

p
∆px∆x ≥ ~

2
~ =

h

2π

Bohr atom: 2πrn = nλ n = 1, 2, 3, · · · Ln = mevnrn = n~

rn =
(

~2

meke2

)
n2

Z
≈ (5.29× 10−11 m)

n2

Z
En = −

(
mek

2e4

2~2

)
Z2

n2
≈ −(13.6 eV)

Z2

n2

1
λ
≈ (1.097× 107 m−1)Z2

(
1
n2

f

− 1
n2

i

)
Quantum atom: L =

√
`(` + 1)~ LZ = mε,,~ Sz = ms~

Atomic magnetism: µe,z = − e

2me
Lz µs,z = − ge

2me
Sz, g ≈ 2 µB ≡ e~

2me
≈ 5.8× 10−5 eV/T

Nuclear physics and radioactive decay

A = Z + N r ≈ (1.2× 10−15 m)A1/3 E0 = mc2

mnucleus = Zmproton + Nmneutron −
|Ebind|

c2

∆N

∆t
= λN N(t) = N0e

−λt = N02−t/T1/2 T1/2 =
ln 2
λ

≈ 0.693
λ

Constants and unit conversion

g = 9.8 m/s2 e = 1.60× 10−19 C

ε0 = 8.85× 10−12 C2/Nm2 k ≡ 1
4πε0

= 8.99× 109 Nm2/C2 µ0 = 4π × 10−7 T ·m/A

c =
1

√
ε0µ0

= 3× 108 m/s h = 6.626× 10−34 J · s hc = 1240 eV · nm

1 eV = 1.60× 10−19 J melectron = 9.11× 10−31 kg = 511 keV/c2

mproton = 1.673× 10−27 kg = 938 MeV/c2 mneutron = 1.675× 10−27 kg = 939.5 MeV/c2

SI Prefixes
Power Prefix Symbol
109 giga G
106 mega M
103 kilo k
100 — —
10−3 milli m
10−6 micro µ
10−9 nano n
10−12 pico p
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